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QUESTION 1

JAX-WS is the successor to JAX-RPC. Which of the following are reasons why a developer may chose to migrate from
JAX-RPC to JAXWS in IBM Web Sphere Application Server V7.0?

A. JAX-RPC is deprecated in Java EE 5. All Web services within a Java EE 5 module need to be JAX-WS-based Web
services.

B. A JAX-RPC service is returning attachments to clients and many of the new clients will be Microsoft .NET clients.

C. A JAX-RPC developed Web service would like to leverage WS-ReliableMessagingin order to ensure reliable and
interoperable Web services.

D. A JAX-RPC developer wants to expose a service defined as WSDL 2.0 in order to upgrade to the next level of Web
services specifications.

E. A JAX-RPC Web service needs to take advantage of WS-Addressing and needs to return a endpoint reference
pointing to another Web service.

F. A JAX-RPC Web service developer wants to schema validate a message using JAXB by using a JAXWS provider
combined with JAXB.

Correct Answer: BCF

QUESTION 2

How can a developer ensure that a fault will occur if the service does not recognize a SOAP header entry containing a
transaction number?

A. Set the fault Code value to soap: Transaction

B. Include a Fault element in the SOAP message

C. Include a must Understand attribute in the header entry

D. Include a detail element containing application-specific elements according to the XML Schema

Correct Answer: C

QUESTION 3

A developer is installing a Liberty profile runtimeenvironment on a Windows machine and hasspecified the
following installation path:

C:\IBM\WebSphere

When the installation is finished, in which directory will all of the Liberty profile files be stored?

A. C:\IBM\WebSphere\wlp
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B. C:\IBM\WebSphere\server
C. C:\IBM\WebSpherelliberty
D. C:\IBM\WebSphere\profile

Correct Answer: A

QUESTION 4

Which of the following options for sending binary data are compliant to either WS-I Basic Profile (BP) V1.1 or V1.2?
A. SOAP with Attachments

B. Base64 encode the data inline

C. Direct Internet Message Encapsulation (DIME)

D. Message Transmission Optimization Mechanism (MTOM) / XML-Binary Optimized Packaging (XOP)

Correct Answer: BD

QUESTION 5

Which of the following is TRUE about specifying the SOAP version in JAX-WS?

A. The JAX-WS @Binding Type annotation of SOAP12HTTP_BINDING indicates to

B. The JAX-WS @Binding Type annotation of SOAP12 indicates to expose the Web service via SOAP
1.2 on both HTTP and JMS

C. A Web service implementation defined with a JAX-WS @Web Service annotation defaults to expose the endpoint via
SOAP 1.1 only.

D. A Web service implementation defined with a JAX-WS @Web Service annotation defaults to expose the endpoint via
SOAP 1.2 only.

E. A Web service implementation defined with a JAX-WS @Web Service annotation defaults to expose the endpoint via
both SOAP 1.1 and SOAP 1.2.

Correct Answer: AC
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